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@ the rough edge where the fabric has been cut

- b the fabric left over when products have been
‘cut out

© .the-l’“_’m made by the fabric manufacturer

d _the finished off edges of the fabric

8. Assertion (A) A nylon thread is stronger

10.

than steel wire.

Reason (R) A steel thread can support more
weight than nylon.

@ Both A and R are true and R is the correct
explanation of A

b Both A and R are true, but R is not the correct
explanation of A

€ Ais true, but R is false
d Ris true, but A is false

Match the fabrics given in Column A with their
area of application (use) given in Column B and
choose the correct answer using the codes given
below.

Column A Column B
p. Polyester I. Cheap silk like clothes
q. Rayon Il. Parachute and stocking
r. Nylon [1l, Shrouds of Egyptian
pharaohs
s. Flax IV. Non-wrinkable fabri
Codes
p q r 5 4
BRI T 01 TN
b I v II LJ,I
c IV |
111 TT\ ;l‘
Names of ¢ ”{he fibres are given below:
5 Wool
1L Polyam1
I1I. Cotton
IV. Lycra
V. Linen

Which of these are not considered as staple
fibres?

a land III

b Il and IV

¢ LIllandV

d II, III and IV

1L

12.

13.

Read the following statements abaut:mol,m
1. It dries quickly.
I1. 1t is attacked by moths.

111, It is warm to wear.

IV, It creases easily.

Which of the above statements are true?

a landIl b Il and III
¢ Iland IV d 11l and 1V

Consider the following fabrics.

Polywool \N"

Some statements relating to these fabrics are
as foll6Ws, "
1. THey.afe less expensive.
[L~They have combined properties of each fibre.
[[#They are made by blending synthetic fibres
with natural fibres.

The correct statement(s) is/are
a landII b II and III
c Only 1 d I, 1I and III

Consider the following figures.

=

Fibre from plants

These clothes are the first choice of most of
the persons generally in summers because the
polymer from which these are prepared is

a strong, heavy and absorbs perspiration

b transparent, absorbs dye and has low tensile

strength
¢ light, soft, absorbs dyes and perspiration
d good conductor of heat

Classifying fabrics is based on the origin of the
libres which can be natural or synthetic.
Which of the following is not a natural fibre?

a Fibres from cocoons

b Fibres from fish scales

¢ Fibres from plant seeds

d Fibres from animal coats



Il. Rayon

:‘i r I“ I silk . Vicuna
s. Used for making shrouds of IV, Flax
~ Codes
o R

S IV 1
DEENE IV "IN
S S | S
dIl mr m I

16. Generally, it is not advisable to wear clothes
made up of terylene, nylon, etc while bursting
fire crackers.

This is because of the following reasons
I. These fibres are prepared by using raw
materials of petroleum origin.
IL. These fibres catch fire easily.
III. On heating, these fibres melt and get stick to
the body of the person wearing it.

The correct reason(s) is/are
a OnlyI b Only II
¢ Iand III d II and IIT

17. Assertion (A) Acrylic fabries areused for

making socks and shawls.
Reason (R) Acrylic fabmc,*; are replacement of

wool.

a Both A and*giié true and R is the correct
explanation'e

d Ris tme. but A is false

Rama wants to study the effect of heating
of different fibres. For this, she collected the
following natural and synthetic fibres.
I. Nylon 11. Wool I11. Cotton
1v. silk V. Polyester
She burnt them one by one with a matchstick.
After the experiment, she observed that
1. I1 and LI burn to form a residue.
- 2.1and V melt on burning.
ki. 11 and IV burn with smell of burning hair.

- 18.

19.

20.

21.

The true statements are 0o
a land2 b 2and3
¢ land3 d 1, 2and 3

Assertion (A) When hairs are combed With

nylon comb, they start attracting small pieces
of papers.

Reason (R) Nylon is a synthetic fibre.

a Both A and R are true and R is the correg

explanation of A

b Both A and R are true, but R is not the correg .

explanation of A |

c Ais true, but Ris false”™\

d Ris true, but Ais falsé\ }

The bristles of toothb?gsh are made up of
nylon. Which of the following properties
of nylon make it mosl suitable for this
purpose?
[. High water absorption tendency.

II. Mexe'strength in wet condition.
I11. Resistance towards bacteria and fungus.
IV. Transparency, clarity and weight.

a Iand II

b I, II and III

¢ Il and I1I

d Iand IV

X is a fibre which is generally used in the
preparation of the following items.

In these applications, it is used because of its
strength. The reason(s) because of which
fibres of X are strongest is/are
I. The molecules in each filament fall into
parallel lines giving the X fibre strength and J-
elasticity.

IL. The fibres of X resemble silk in different
structure, hence they are very strong and
elastic.

II1. Being wrinkle free, these fibres are. strong.

IV. Fibres of X are very thin and light in weight
hence, strong and elastic.
a I, II and III
b II and III
Cc Onlyl
d Il and 1V

I




ove experiment, the

, II and III are
III
Cotton
Nylon
Nylon

\>

some Xs and named thiex s.
weight of each a >pt'each one in Water or
some time. Then, he again took weight of ea_ch_i_j;f

wet state. Qv .
The results o ed by him are as follows.

tof Qis 30 g.

eight of P is less than that of Q but more than
that of §, which in turn, more than R

Enrther, he checked the weight bearing capacuy
in each case by applying some loads and get the
following result:

Load bearing capacity of Q is more than that of P, but
not maximum.

If Xs used by him are wool, nylon, cotton and silk,
then try to help him to give answer of llowi
questions:

25. X and Y stand for respectively
a wool and paper
b fibre and cloth
¢ cloth and fibre
d paper and wool e JughRlC

Wl ._'il, |
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explanation of A : We s

b Both A and R are true, but R is not the correct
explanation of A

-"fbughr mlsﬁ
_grease, oil and chemicals ¢ Ais true, but R is falsQ
: F mnsparent tough resists d Ris true, but A is f.

ST Nable 5. You all are well famili; m the uteusﬂs

Transparent, tough, resists shown in given fighre!
grease, oil, chemicals and heat plastics, these ma

roperty of HDPE distinguishes it from
_ r four plastics?

a Flexibility

b Translucent

€ Resistance to moisture
- d Resistance to grease and oil

2. Plastics have transformed modern society AN Nan-sticky coakware
“providing attractive benefits but also befoulmg:.. ‘

waterways and aquifers depleting petroleum, V' a Teflon b PVC
supplies and disrupting human health. \ N\ ¢ Polyethylene d All of these

i, 6. The cookware shown in above question are
gencraﬂy recommended to heart patients. This
i) is because they
'dﬂ-"-'a'

a donot absorb water b do not absorb oil
€ cook faster d are biodegradable

7. Whenever you are going to buy a television,
fridge or computer, you found that all these
are placed in a thick covering. Such a covering
is shown in the following figure.

.b Recycle
d Reduce

he following materials, what are the
us "'d asa subsutute for glass and

polyamide,







on from the following facts:
s present in refrigerators or

.

f cooking pans are made up of

- used for making parachutes. Q\
NS

Qv

_ owin statc%a-\l) each

nks and ch the correct

19.

s

VL. Phenol-formaldehyde resin

VIL Rubber (natural)

VIIL Polystyrene

1X. Polypropylene
XI. ABS rubber
a Group A » WV 0
GrouggL— , 11, 110, VIIL, IX

X. Rubber (syntheti
Group C VII, X, XI

1V,

I, 111, VII

VY, VI

V.V

IL, 111, XI
VII, X

IV, V, VI, VII
I, II, 111, X1
No one

d Group4
Group B
Group C

Plastics are very important materials for our
day-to-day life. We completely depend upon
plastics for our most of the work because of
certain properties exhibited by them.
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